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°F = (1.8 x °C) + 32
°C = 0.555 (°F-32)
°K = °C + 273.2   

Temperature

Units and Conversion Factors

Decimal Equivalents
LLIRD

EZIS mm LAMICED
SEHCNI

LLIRD
EZIS mm LAMICED

SEHCNI
LLIRD

EZIS mm LAMICED
SEHCNI

LLIRD
EZIS mm LAMICED

SEHCNI

- 01.0 9300. 54 80.2 0280. 5 22.5 5502. 61/7 11.11 5734.

- 02.0 9700. 44 81.2 0680. 4 13.5 0902. 46/92 15.11 1354.

- 52.0 8900. 34 62.2 0980. 3 14.5 0312. 23/51 19.11 8864.

- 03.0 8110. 24 73.2 5390. 23/7 65.5 8812. - 00.21 4274.

08 43.0 5310. 23/3 83.2 8390. 2 16.5 0122. 46/13 03.21 4484.

97 73.0 5410. 14 44.2 0690. 1 97.5 0822. 2/1 07.21 0005.

46/1 04.0 6510. 04 05.2 0890. A 49.5 0432. - 00.31 8115.

87 14.0 0610. 93 35.2 5990. 46/51 59.5 4432. 46/33 01.31 6515.

77 64.0 0810. 83 85.2 5101. - 00.6 2632. 23/71 94.31 2135.

- 05.0 7910. 73 46.2 0401. B 50.6 0832. 46/53 98.31 9645.

67 15.0 0020. 63 17.2 5601. C 51.6 0242. - 00.41 2155.

57 35.0 0120. 46/7 87.2 4901. D 52.6 0642. 61/9 92.41 5265.

47 75.0 5220. 53 97.2 0011. 4/1 53.6 0052. 46/73 86.41 1875.

- 06.0 6320. 43 28.2 0111. E 53.6 0052. - 00.51 6095.

37 16.0 0420. 33 78.2 0311. F 35.6 0752. 23/91 80.51 8395.

27 46.0 0520. 23 59.2 0611. G 36.6 0162. 46/93 84.51 4906.

17 66.0 0620. - 00.3 1811. 46/71 57.6 6562. 8/5 88.51 0526.

- 07.0 6720. 13 50.3 0021. H 67.6 0662. - 00.61 9926.

07 17.0 0820. 8/1 81.3 0521. I 19.6 0272. 46/14 72.61 6046.

96 47.0 2920. 03 62.3 5821. - 00.7 6572. 23/12 76.61 2656.

- 57.0 5920. 92 54.3 0631. J 40.7 0772. - 00.71 3966.

86 97.0 0130. 82 75.3 5041. K 41.7 0182. 46/34 70.71 9176.

23/1 97.0 3130. 46/9 75.3 6041. 23/9 41.7 2182. 61/11 64.71 5786.

- 08.0 5130. 72 66.3 0441. L 73.7 0092. 46/54 68.71 1307.

76 18.0 0230. 62 37.3 0741. M 94.7 0592. - 00.81 7807.

66 48.0 0330. 52 08.3 5941. 46/91 45.7 9692. 23/32 62.81 8817.

56 98.0 0530. 42 68.3 0251. N 76.7 0203. 46/74 56.81 4437.

- 09.0 4530. 32 19.3 0451. 61/5 49.7 5213. - 00.91 0847.

46 19.0 0630. 23/5 79.3 2651. - 00.8 0513. 4/3 50.91 0057.

36 49.0 0730. 22 99.3 0751. O 30.8 0613. 46/94 54.91 6567.

26 79.0 0830. - 00.4 5751. P 02.8 0323. 23/52 48.91 2187.

16 99.0 0930. 12 40.4 0951. 46/12 33.8 1823. - 00.02 4787.

- 00.1 4930. 02 90.4 0161. Q 34.8 0233. 46/15 42.02 9697.

06 20.1 0040. 91 22.4 0661. R 16.8 0933. 61/31 46.02 5218.

95 40.1 0140. 81 13.4 5961. 23/11 37.8 8343. - 00.12 8628.

85 70.1 0240. 46/11 73.4 9171. S 48.8 0843. 46/35 30.12 1828.

75 90.1 0340. 71 93.4 0371. - 00.9 3453. 23/72 34.12 8348.

65 81.1 5640. 61 05.4 0771. T 90.9 0853. 46/55 48.12 4958.

46/3 91.1 9640. 51 75.4 0081. 46/32 31.9 4953. - 00.22 1668.

55 43.1 0250. 41 26.4 0281. U 53.9 0863. 8/7 32.22 0578.

45 04.1 0550. 31 07.4 0581. 8/3 35.9 0573. 46/75 26.22 6098.

35 15.1 5950. 61/3 67.4 5781. V 65.9 0773. - 00.32 5509.

61/1 95.1 5260. 21 08.4 0981. W 08.9 0683. 23/92 20.32 2609.

25 16.1 5360. 11 58.4 0191. 46/52 29.9 6093. 46/95 24.32 9129.

15 07.1 0760. 01 19.4 5391. - 00.01 7393. 61/51 18.32 5739.

05 87.1 0070. 9 89.4 0691. X 80.01 0793. - 00.42 9449.

94 58.1 0370. - 00.5 8691. Y 62.01 0404. 46/16 12.42 1359.

84 39.1 0670. 8 50.5 0991. 23/31 23.01 2604. 23/13 16.42 8869.

46/5 89.1 1870. 7 11.5 0102. Z 94.01 0314. - 00.52 2489.

74 99.1 5870. 46/31 61.5 1302. 46/72 27.01 9124. 46/36 00.52 4489.

- 00.2 7870. 6 81.5 0102. - 00.11 1334. "1 04.52 0000.1

64 60.2 0180.

tiehnerhaF suisleC eniknaR nivleK

206 7.613 7.1601 9.985

275 0.003 7.1301 2.375

245 3.382 7.1001 5.655

215 7.662 7.179 9.935

284 0.052 7.149 2.325

254 3.332 7.119 5.605

224 7.612 7.188 9.984

293 0.002 7.158 2.374

263 3.381 7.128 5.654

233 7.661 7.197 9.934

203 0.051 7.167 2.324

272 3.331 7.137 5.604

242 7.611 7.107 9.983

212 0.001 7.176 2.373

281 3.38 7.146 5.653

251 7.66 7.116 9.933

221 0.05 7.185 2.323

29 3.33 7.155 5.603

26 7.61 7.125 9.982

23 0.0 7.194 2.372

2 7.61- 7.164 5.652

82- 3.33- 7.134 9.932

85- 0.05- 7.104 2.322

88- 7.66- 7.173 5.602

811- 3038- 7.143 9.981

841- 0.001- 7.113 2.371

871- 7.611- 7.182 5.651

802- 3.331- 7.152 9.931

832- 0.051- 7.122 2.321

862- 7.661- 7.191 5.601

892- 3.381- 7.161 9.98

823- 0.002- 7.131 2.37

853- 7.612- 7.101 5.65

883- 3.332- 7.17 9.93

814- 0.052- 7.14 2.32

7.954- 2.372- 0.0 0.0
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Units and Conversion Factors

SEZISLLIRDPAT
PAT
EZIS

LLIRD
EZIS

ELBABORP
DAERHT%

PAT
EZIS

LLIRD
EZIS

ELBABORP
DAERHT%

PAT
EZIS

LLIRD
EZIS

ELBABORP
DAERHT%

08-0 46/3 18-17 23-01 12 67-86 81-8/5 46/73 56-85

53.X6.1M mm52.1 77-96 8.X5M mm2.4 77-96 2X61M 46/53 18-67

46-1 35 76-95 42-21 61 27-66 01-4/3 23/12 27-86

4.X2M 61/1 97-27 82-21 51 87-07 61-4/3 61/11 77-17

27-1 35 57-76 1X6M 01 48-67 5.2X02M *61/11 87-47

65-2 05 96-26 02-4/1 7 57-07 9-8/7 46/94 67-27

46-2 05 97-07 82-4/1 3 08-27 41-8/7 61/31 76-26

54.X5.2M mm50.2 77-96 81-61/5 F 77-27 3X42M 46/35 67-27

84-3 46/5 77-07 42-61/5 1 57-76 8-1 8/7 77-37

65-3 64 87-96 52.1X8M mm7.6 08-47 21-1 46/95 27-76

04-4 34 17-56 61-8/3 61/5 77-27 41-1 61/51 76-16

84-4 24 86-16 42-8/3 Q 97-17 7-8/1-1 46/36 67-27

5.X3M 04 97-07 5.1X01M mm4.8 28-67 21-8/1-1 43/3-1 27-66

04-5 83 27-56 41-61/7 U 57-07 5.3X03M *46/3-1 57

44-5 73 17-36 02-61/7 46/52 27-56 7-4/1-1 *46/7-1 67

6X5.3M 33 18-27 57.1X21M 23/31 47-96 21-4/1-1 *46/11-1 27

23-6 63 87-17 31-2/1 46/72 87-37 6-8/3-1 *23/7-1 27

04-6 33 77-96 02-2/1 43/92 27-56 21-8/3-1 *46/61-1 27

7.X4M mm52.3 28-47 2X41M 23/51 18-67 4X63M *4/1-1 28

23-8 92 96-26 21-61/9 46/13 27-86 6-2/1-1 *23/11-1 27

63-8 92 87-07 81-61/9 46/33 56-85 21-2/1-1 46/72-1 27

42-01 52 57-96 11-8/5 3/71 97-57

DRADNATSOTCIRTEM
SNOISREVNOC

73930.0x)mm(sretemilliM = )ni()"(sehcni

sretemitneC 7393.0x)mc( = )ni()"(sehcni

73.93x)m(sreteM = )ni()"(sehcni

182.3x)m(sreteM = )tf()'(teef

490.1x)m(sreteM = )sdy(sdray

73126.0x)mk(sretemoliK = )im(selim

78.0823x)mk(sretemoliK = )tf()'(teef

2462.0x)l(sretiL = )slag().S.U(snollag

3530.0x)l(sretiL = cibuc teef

8305.41xsraB = )ISP(hcnierauqsrepsdnuop

502.2x)gk(smargoliK = )P(sdnuop

26.3901x)mk(sretemoliK = )sdy(sdray

erauqS sretemitnec 551.0x = sehcnierauqs

67.01xsretemerauqS = teeferauqs

683.0xsretemolikerauqS = selimerauqs

sretemitneccibuC 20160.0x = cibuc sehcni

cibuC 513.53xsretem = cibuc teef

SEZISLLIRDPATEPIP
EZISPAT

EPIPREPAT
FTPN&TPN

LAMICED
TNELAVIUQE

THGIARTS
SPNEPIP

LAMICED
TNELAVIUQE

72-8/1 R 0933. 23/11 8343.

81-4/1 61-7 5734. 46/92 1354.

81-8/3 46/73 1875. 46/73 1875.

41-2/1 46/54 1307. 23/32 8817.

41-4/3 46/95 9129. 46/95 9129.

2/1-11-1 23/5-1 2651.1 23/5-1 2651.1

2/1-11-4/1-1 2/1-1 0005.1 2/1-1 0005.1

2/1-11-2/1-1 46/74-1 4437.1 4/3-1 0057.1

2/1-11-2 23/7-2 8812.2 23/7-2 8812.2

8-8/1-2 46/14-2 6046.2 23/12-2 2656.2

8-3 46/71-3 6562.3 - -
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Units and Conversion Factors

Force
Quantities in the shaded areas are not force units but are often used as such. For instance, if we write 1 gram-force "=" 980.7 dynes, we 
mean that a gram-mass experiences a force of 980.7 dynes under standard conditions of gravity (g = 9.80667 m/s2)

enyd NOTWEN bl ldp fg fgk

=enyd1 1 01 5- 01x842.2 6- 01x332.7 5- 01x020.1 3- 01x020.1 6-

=NOTWEN1 01 1 8422.0 332.7 0.201 0201.0

=dnuop1 01x844.4 5 844.4 1 71.23 6.354 6354.0

=ladnuop1 01x383.1 4 3831.0 01x801.3 2- 1 01.41 01x014.1 2-

=ecrof-marg1 7.089 01x708.9 3- 01x502.2 3- 01x390.7 2- 1 100.0

=ecrof-margolik1 01x708.9 5 708.9 502.2 39.07 0001 1

Density

tf/guls 3 /margoliK
sreteM 3 mc/g 3 tf/bl 3 .ni/bl 3

tfrepguls1 3 = 1 4.515 4515. 71.23 01x268.1 2-

reteMrepmargoliK1 3 = 01x049.1 3- 1 100.0 01x342.6 2- 01x316.3 5-

mcrepmarg1 3 = 049.1 0001 1 34.26 01x316.3 2-

tfrepdnuop1 3 = 01x801.3 2- 20.61 01x206.1 2- 1 01x787.5 4-

.nirepdnuop1 3 = 17.35 01x867.2 4 86.72 8271 1

a Where the acceleration of gravity has the standard value 9.80665 m/s2.
1 bar = 106 dyne / cm2 = 0.1 MPa      1 millibar = 103 dyne / cm2 = 102 Pa      1 Torr = 1 millimeter of mercury

Pressure

mta mc/enyd 2 fohcni
retaw

gHmc LACSAP .ni/bl 2 tf/bl 2

=erehpsomta1 1 01x310.1 6 8.604 67 01x310.1 5 07.41 6112

mcrepenyd1 2 = 01x968.9 7- 1 01x510.4 4- 01x105.7 5- 1.0 01x504.1 5- 01x980.2 3-

retawfohcni1 a

=C°4ta 01x854.2 3- 1942 1 8681.0 1.942 01x316.3 2- 202.5

foretemitnec1
=C°0tayrucrem 01x613.1 2- 01x333.1 4 353.5 1 3331 4391.0 58.72

=LACSAP1 01x968.9 6- 01 01x510.4 3- 01x105.7 4- 1 01x054.1 4- 01x980.2 2-

.nirepdnuop1 2 = 01x508.6 2- 01x598.6 4 86.72 171.5 01x598.6 3 1 441

tfrepdnuop1 2 = 01x527.4 4- 8.874 2291.0 01x195.3 2- 88.74 01x449.6 3- 1




